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1| ahe | 3053 | 8| 9| 6] 9| 9 8,467| 30(EPAHE
2| ahe | 3054 |[10({10] 9] 9| 9 9,533 30|{MPAAHE, SSAP, EPAHE
3| ahe | 3055 | 8|10 9| 9] 9 9,2 30]-
4| ahe | 3056 [10(10]10{10] 10 10| 30]-
5] ahe | 3057 |10| 9] 7| 9| 9 9| 30|EPAHE
6| ahe | 3058 | 9 9] 5] 9| 9 8,433 30(EPAHE
7| ahe | 3059 | 7|10 6| 9] 10 8,533| 30|EPAHE
8| ane | 3061 | Of O] Of Ol O 0|EPAHE
9| ahe 3062 (10| 8| 5/10] 9 8,633| 30|EPAHE, Practica2
10| ahe | 3063 [10(10] 5 9| 8 8,633| 30(EPAHE
11| ahe | 3084 [10[ 8| 7| 9] 10 8,967| 30| -
12| ahe | 3065 |10{10{10|10{| 10 10( 30] -
13| ahe | 3076 (10 7| 5] 9] O 27|EPAHE
14| ahe | 3067 [10(10] 8| 9] 10 9,433 30| -
15| ahe | 3088 | 9 9| 6[10] 10 8,9| 30|-
16| ahe | 3069 |10| 8| 5| 9| 10 8,567( 30] -
17| ahe | 3070 [10(10| 9[10] 10 9,8| 30|-
18| ahe | 3073 [10(10] 9[10] 10 9,8( 30]|-
19| ahe | 3074 [ Of O O O] O 0|EPAHE
20 ahe | 3075 [10{10]|10]| 10| 10 10( 30| -




